VIDEO MOUNT PRODUCTS

Instruction Sheet For:

PDS-LC & PDS-LCB

o o o ot e e s e D Y

O e o i e e e e T e e

= e e D e e o T G o S

— e e e e e e e e e e,

For more information, please contact us at:
345 Log Canoe Circle, Stevensville, Maryland 21666
Toll Free: 877.281.2169 Phone: 410.643.6390 Fax: 410.643.6615
www.videomount.com



$12NAa0Y¥d LNNOW O3GIA

—_—i— )

S AT OO S e S S )

4 ,G C5,.9 | /G MBIOS B o
[ Ul ISH0D 5%
¢ | Z0L9°GSPDS 91D IBUSOM DAd | ¥¥
4 0 LL«S LD «S D JBYSOM (%%
4 d 19o0Jg UOISUSIXg 1474
4 8W 1900dS Ly
4 9W Joo0nds Qv
4 0CL81 @ «SW JSUSOM 6€
4 SW JSUSOAM 007 ]¢
4 OW JSUSOM AO07T /C
4 CW JOUSOM 007 Q¢
4 YW JSUSOM 007 S
y 0¥ 1:5C [dx8W MSIOS 43
y GE1x0 [d+9W MSIOS ce
y 0£1+8°0d+GW MBIDS 43
y 0£71+/ 0ds VW MSIOS 1€
y G 911s5C 1 dx8W MSIOS 0g
y 1740 1dx9W M3I0S 6C
y ¢171+870d xSV MSI0S 8¢
y ¢ 115/ °0ds ¥V MSI0S /C
L | 00176/ Ld«CIW Ma10S Bbulsnlpy | 9z
| 1oxo0Ig bulisnipy GZ,
| _ YW A9y ua|ly BuoT (%4
9 9 11«61 @ +8/€ P JBYSOM 44
4 G Ld«0 W NN UOJAN 1C
¥ B/ TxONN8L -9 [/G MSIOS 0C
8 9 1«61 D «£8 P JOUSOM 61
4 Y [SYO0Ig UOKSUSXT 81
| 19)001g BullUNowW /1
4 021x8'0dxGW MIDS AjINDSS 91
| Aoy us|ly eW ¥l
GZ L dx8W {NN UOJAN €
] 09145 L d«8W MBIOS ¢l
¢ | . Z/11xONNQC - v/ MaIoS a3oIg | ||
C GC1xS [ dxO W MSIOS 0l
| 0'2ds9 LW INN UOJAN /
4 0'€L«9°SS D S 91 @ JOYSOM 9
[ 1900Jg [SAIMS S
a|dno) adid 4
1SOW 18UU| c
. ISOW J8InO 4
| 910|d BuljleD |
ALD NOILdINOSAA ON

>
L
=




Step 2 : Assembling the
mounting rails

[27-34)

A5-38

| \ T T
3 o |
b | [t

iy

Step 3A: Attaching the
mounting rails to the flat pan-
el (holes are not recessed)

18 o 42

P, .jj'J o
-

35-38 ||

4
3% | |\._\ 1
¥

Step 3B: Attaching the
mounting rails to the flat
panel (holes are recessed)

VIDEO MOUNT PRODUCTS

Step 1

Before starting lay out all parts to your mount and match them to
the parts list provided. Verify that you have all your parts before
attempting to assemble the mount.

Step 2

Slide either extension brackets A or B ( or depending on
which works better for your TV) onto the mounting plate @ and
match up the slots on the extension brackets to the holes on the
back of your TV.

Step 3

Determine the correct screw size and if you need to use wash-
ers, lock washers, or spacers. Note: Spacers are used for TVs with
recessed hole patterns. Secure the TV to the extension brackets

( or ) using the appropriate hardware (@through ).

Step 4
Center the mounting plate @ on the TV and use the 5/16” screws

and washers to secure the extension brackets ( or )

in place. Set this aside for now.

Step 5

Mark the ceiling or desired mounting surface in preparation of instal-
lation of ceiling pIate@ . If mounting to wooden ceiling joists, pre-
drill pilot holes using a 7/32” drill bit. Attach the ceiling plate @
to the wooden ceiling joist using the 5/16” by 2.5” long lag screw
and washer . WARNING: Please verify that your mounting
surface will support the combined weight of your mount, mounting
hardware, and flat panel. Also verify that the mounting surface is
safe to drill through. Please note only mounting hardware for mount-
ing to wooden ceiling joists will be provided with the unit. If mounting
to a surface other than wooden ceiling joists then other hardware will
be required. If in doubt or uncertain about any of the above, please
contact a professional installer.

47

e

{a =
=

46

q'
==

Step 4 : Securing the mounting
rails to the mounting bracket

Step 5 : Attaching the ceiling
plate to the ceiling



Step 6 : Connecting the outer
mast to the ceiling plate

Step 7 : Attaching the inner
mast to the outer mast

1

Step 8 : Attaching the pipe
couple to the ceiling mast

Step 6

Screw the outer mast @ into the celling plate @ as tight as
possible. Then proceed to take the ¥4” — 20 brake screw ight-
en it down into the pipe couple on the ceiling plate @ using
the M3 Allen ke . Note: It is important to tighten down the
brake screw as far a possible to prevent the outer mast
@ from rotating out of the pipe couple on the ceiling plate

Step 7
If you wish to run cables through the masting of the mount take
time to do so now by inserting the head of the cable through the
oval slot cut into the ceiling plate @ running down through the
outer mast @ and then proceeding to run the cable through
the inner mast @ Insert the inner mast @into the outer mast
@ and pin the inner mast into place at the desired height us-
ing the M8 hex head screw @ and nylon nut @ @

Step 8

If you ran cables through the ceiling mast then proceed to feed
the head of the cables out through the slot cut into the pipe
couple @at this time. Remember to leave enough slack at the
bottom to allow you to connect to your flat panel. Screw the
pipe couple @ onto the inner mast as tight as possible.
Then tighten the ¥4 — 20 brake screw into the pipe couple
using the M3 Allen Key . Note: It isimportant to tighten down
the brake screw @as far a possible to prevent the pipe couple
@from rotating off of the inner mast @



Step 9 : Attaching the swivel
bracket to the pipe couple

725

Step 10 : Attaching the adjusting
bracket to the swivel bracket

Step 11 : Attaching the mounting
bracket to the adjusting bracket

Step 9

Attach the swivel bracket @to the pipe couple@using the large
metal Washers@, PVC washers and M16 nylon nut\”). Once
the nylon nut@ is tight, slide the cotter pin through the small
hole near the bottom of the screw coming out of the pipe couple
@ . Note: Be sure to tighten down the nylon nut @as far as pos-
sible to prevent sag or list in the mount.

Step 10

Attach the adjusting bracket@to the swivel bracket@using the
M10 screws , washers @ and nylon nuts@. Insert the adjust-
able screw @ into the back of the swivel bracket @ This screw
will control your tilt.

Step 11

Lift the mounting plate @ with the TV onto the adjusting bracket
inserting the metal tabs on the adjusting bracket @ through

the slots on the mounting plate@ . WARNING: This step requires

at least two people to prevent possible injury. Use the M5 screws

, washers , and long Allen key @ to secure the mounting
plate @ to the adjusting plate @

Verify all screws and nuts are securely fastened.

VIDEO MOUNT PRODUCTS

Enjoy Your Mount!

WARNING: The installer of these products must verify that the
mount surface, ceiling or wall, will safely support the combined
weight of all attached equipment and hardware. Video Mount
Products will not be held liable for the improper use or installation
of its products.



	PDS-LC.pdf
	PDS-LC Parts List
	Sheet1
	Drawing View1



